Multiplication de Deux Binomes (B)

Simplifiez chaque expression.

L (7p* = 8p®)(—p* + 4p?)

2. (=3b° + %) (6 + 4)

D

3. (—6h* — 4h3)(—4h° + 6h%)

. (=7p* — 6p)(5p" + 5p*)

(—6¢° — 2¢*)(—9¢* + 5¢°)

Ot

6. (—3b° + 4b%)(=70° — b*)

7. (3v* = 30%)(30® — %)

8. (=92 — 6)(62° — 227)

0. (5t —t)(t* — 5t%)

10. (62° — 92%)(—82° — 22%)
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Multiplication de Deux Binomes (B) Réponses

Simplifiez chaque expression.

(7p" = 8p%) (—p" + 4p°)
— —7p% + 36p" — 32p°

O

(=30 + b%)(6b + 4)
— —18b* — 6b° + 4b°

- (—6h* — 4h®)(—4h° + 6"
— 241° — 20h% — 24K

w

(=Tp* — 6p)(5p* + 5p°)
= —35p° — 65p° — 30p?

()

- (=6¢° = 2¢")(=9¢" + 5¢°)
= 54¢° — 12¢° — 104"

i (—3b% 4 4b*)(=T0° — b*)
— 216°% — 250" — 448

(@)

(30t — 3@3)(303 — 20%)
= 9v" — 150° + 60°

=~

00

(=92 — 6)(62° — 227)
— 54z — 182% + 1277

(582 —t)(t* — 5t%)
= 5t° — 26t* + 5t

Re)
N®)j

10. (62° — 92%)(—82" — 22%)
= 482" + 602 + 182°
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